asym_sam?2

asym_sam4

asym_samb6

asym_sam3

diff_

: | —
40000 ;‘ N —{14r

N
20000 - ot
10000 |

N 80

of

N B0
10000 F

B 400
20000

- 200
30000 [~

il I | 111 | 111 | 111 | 111 | 111 | 111 I 111 | 111 | 111

-10 -8 -6 -4 -2 0 2 4 6 8 10 0

diff_bpm4aX/um

d'

25000
- —{14(
20000
o uu [ |
15000 | 12(
- N
1000 - ™ o0
5000 - a0
o
- 0L
5000
- 40(
10000 [ x
15000 - 20(
E‘DDDU :I 11 | 111 | L1 | 111 | L1 | L1 | 111 I 111 | L1 | 111 D

-10 -8 -6 -4 -2 0 2 4 6 8 10
diff_bpmdax/um

diff_
— 160

15000 [~ yar
10000 | il
5000
- — 100
o
-5000 [
: GO
10000
- N
n 400
15000 |
m 200
20000 - .
Cooa bbb b b v b bra b 0
10 -B -6 -4 -2 O 2 4 6 8 10
difi_bpmdaX/um
15000 [~ —14c
10000 y¢
5000 - — 10
of
~5000
10000 -
- 400
15000
LI . 200
20000 -
B I.|III|III|III|II |III|III|III|III|III

run3679 000 resression-asym Ssam

diff_bpmd4aY

40000

30000 —1o0

20000

10000

10000

20000

30000

T | | 1111 | 1111 | 1 111 | 1111 I 1 111 I 1111 | 1 111 ﬂ
30 -20 -10 O 10 20 30 40
diff_bpmda¥ium

diff

25000 |
20000 —12¢
15000
n —10(
10000 &
u [ |
5000
o
-5000
10000
: 20(
15000
E_DDDD:IllIIII|IIII|IIII|IIIIIIIIIIIIIIlIIII {'
30 -20 10 O 10 20 30 40
diff_bpm4aYium
'l-
: —12¢
15000
- —10(
10000
- [ |
5000 oo
of
~5000
- o
10000 - m 40(
15000
n u 20(
B |
20000 .
Dol v bevv o by by s bviaa Ly 0
30 -20 -10 O 10 20 30 40
diff_bpmdaYium
diff
= |
15000 [ —12c
10000 | o
5000
- —B0(
o ®
5000 |
- m
- n
10000
15000
_ mEn
20000 :—

sam2468-vs diff

diff_

-:

- —{25¢
40000 [
30000
n — 200
20000 -
10000 | |15
o
: 10(
10000
20000 F 50(
30000 -
- | L 1 1 I 11 1 | L 1 1 I | ﬂ
60 _20 0 20 40
diff_bpmdeX/um
diff
25000
20000 i
15000
- —{20¢
10000
5000 15¢
0
- 10(
-5000
10000
s 500
15000
E'DDDD - | | | | I 1 | | | | | | I | ﬂ
~60 20 0 20 40
diff_bpmdaX/um
l
- —30(
15000
n —25(
10000 |
5000 —20(
o
- 15(
~5000
10000 | 10c
15000 |
- 50(
20000 [
1 TN T TN T Y I O 0
60 20 0 20 40
diff_bpmdeX/um
diff
15000 - -
10000
- —20(
5000
o 15(
5000
n 10(
10000 |
15000 [ 50(

20000 m

|

bi

pm=COL

diff_bpmdeY

40000

30000

20000

10000

10000

20000

30000

200 <15 10 =5 O 5 10 15 20 25

diff_bom4eY/um

diff

25000

20000

15000

10000

5000

1]

= 5000

10000

15000

20000

diff hpmélcY

15000

10000

5000

=5000

10000

15000

20000

9-.

=5000

10000

15000

20000 —

20 <15 10 -5 O 5 10 15 20 25

diff_bpmdaY/um

"'h""

20 <15 10 -5 0O 5 10 15 20 2b

diff_bomdeY/um

iff _ bpmdeY

||||II|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|

—100

600

400

200

—12(

—{10(

600

400

200

— 100

600

400

200

—120

— 100

60(

400

200

7. postpan.png

diff_bpmE

41}L‘IUL‘I:— ol B
30000 [~

[ —lanc
20000 [~
1[:IDUI'_'I:—. BOC

ofs

- 400
10000 —

20000 F . 200
30000 [~
_IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II ﬂ
40 -30 -20 -10 O 10 20 30 40 50
diff_bpmEfum
d'
25000 —

- |
Ei}I'JUL‘I:— i . o0
15000 |
10000 .

E [

5000

s B0

o
-5000 | 400
10000 |

- 200
15nnr_1:— -
Eﬂnnn-IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II ﬂ

40 -30 -20 -10 O 10 20 30 40 50

difi _bpmEfum

l-

15000 —10(
10000 |

- —lanc
5000

o BOC

N | |
~5000 —

- 401
10000
15000

_ ]

:mnnn: -
O b v ber b b e b Lo b 0
40 -30 -20 -10 O 10 20 30 40 50
diff_bpmEfum
d'
15000

- —10¢
10000 [~

- —laoc
5000 [

o B0C
-5000

- m

- 400
10000
15000 200

- i E =
20000 —

-IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|.II ﬂ

40 -30 -20 -10 O 10 20 30 40 50

diff _bpmEfum



reg_asym_sam?2

reg_asym_sam4

reg_asym_samo6

reg_asym_samg§

run3679 000

g
E
g
%

- 12(
|
i N
10000 u
. —10¢
5000 lan
ﬂ -
[ =
=5000 HE
| - m
10000 ] - I
_III|III|III|III|III|III|III|III|III|III D
10 -8 -6 -4 -2 0 2 4 & 8 10
difi_bpmdaX/um
l-
: —laoc
3000 —{a0
o000 — ™ —[ro
n —60C
1000 |
o

=1000

=2000

=3000

|

4000 ||||||||||||||||||||||F||||||||||||||| o
-10 -8 -6 -4 -2 0 2 4 [ g 10

diff_bpmdaxsum

—120
4000

3000 [ ] —10C
2000

1000

=1000

=2000

=3000 [ ]

"h""'

|
4-I}EIEI_"'l"'l"'l"'l”'l"'l"'l"'l"'l"' 0

‘10 -8 -6 -4 -2 0 2 4 6 & 10
diff_bpmdaX/um

diff
100

3000

2000

1000

=1000

=2000

=3000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

III|III|III|III|II |III|III|III|III|III
00T s a4

regsression-reg

i 3 —14¢
10000
i —12
5000
- . 100
i [
ﬂ_
~5000 —
10000 ﬁ
_IllIIII|IIII|IIII|IIII|IIII|IIII|IIII ﬂ
30 -20 =10 O 0 20 30 4D
diff_bpmdaYium
-
3000
- — 100
2000
- —aoc
1000
ok W (L —soc
~1000
- 400
2000
- 200
~3000
[ [ |
L | | i | |
L1 | I | L1 11 L1111 L1 11 L1111 L1l 11 L1111
~4000 T a0 10 o o =20 a0 4p ©
diff bpmdaYium
d'
4000 —14(
3000
- —12¢
2000
C —100
[ u u
1000
o
- m
~1000
2000
3000 m
- =
—4-I}EID_"|""l""l'"'l”"l""l""l"" 0
30 -20 -10 O 0 20 30 4D
diff_bpmdaYium
d.
3000 [~ —12¢
2000
- —10¢
1000 |-
B — 800
ﬂ,'_
- m
[ BOC
1000 [
- 400
2000 [~
3000 - 200
n | | L1l | L1 |

sam24¢

~vs d

- —12¢
|
i N
10000 - =
i —10¢
5000
| —laoe
N |
-5000
i -
10000 |- ] Y :l 0
i 11 | | 1 11 | | | | I 1 | | | | | | I | ﬂ
60 _40 20 0 20 40
difi_bpmdeX/um
diff_bpmdeX
| —
" N —lane
3000 F
- m —aoe
o001 g
- —700
1000 -
o
[ [ |
1000
~2000 |
3000
: | | | " |
| | | 1 | | | | | 1 | | | | | |
~4000.7 T 50 0 20 40

diff_bpmdaX/um

—120
4000

3000 —100
2000

1000

=1000

=2000

=3000

"mmﬁa -40 -20 0 an 40

diff _bpmdeX/um

3000

2000

1000

=1000

=2000

=3000

iff "bf”)m-

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

10000 —12t
: — 100
000 —
LR
R —180(
. m
i BOC
(=
=5000 — ADC
B 200
10000 |- o Lo
_Ill|||||||||||||||||||||||||||||||||||||||||II| D
=20 =15 =10 <=5 (1] 5 10 15 20 25
difi_bpmdeY/um
l
E — 100
3000 |
2000 |- o
1000 [~
E. m 600
o u
1000 |- 40(
2000 |
B 200
-3000
- m
_||||||||||||||||||||||||||||||||||||||||I||II|
-4000 20 =15 10 <5 (1] Lo 10 1 20 25 o
difi _bpmdeYium
diff _ hpmélcY
4000
B —12(
3000
_ —10(
2000 |
_ ]
1000 —{80c
ﬂ:_ a0l
N [ ]
1000 F g
B 400
2000
_ 200
-3000 m
- m
-41}0[]_l""l'”'l""l""l'”'l""l""l""l""l 0

20 -15 -10 -5 © 5 10 15 20 25
diff_bomdeY/um

iff_bpmdeY

9-.

3000 [
2000 | Nk
1000 | — 80

D:-

- 60
~1000 |-

- 40
-2000 |-
-3000

|||||||||||||||||||||||||||||||||||||||||I|||||

—ED 15 =10

" postpan

20 25

Tl)ll,(_’,

10000 1%
i —10¢
5000
i —B0C
0 n
i BOC
~5000 40(
i -
- 20(
— H B
10000 l1 -
_IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II ﬂ
40 -30 -20 -10 O 10 20 30 40 50
diff_bpmEfum
l-
n —10(
3000
2000 ol
m
1000
- —B0C
D—
1000 | 400
2000
n 20(
~3000
: I A AT AT SO AP,
HIEEE RN
40000 ey 2p 0 0 10 20 90 4D 50 o
difi _bpmEfum
d'
4000
n —12¢
3000
n —10(
2000
1000 [ —{80(
ol
: ol
~1000
n 40(
2000
:mnn:— 20(
: m
-AH}DU_'”'l""l""l”"l""l””l””l””l””lll 0
40 -30 -20 -10 O 10 20 30 40 50
diff_bpmEfum
d.
3000
- —10¢
2000 [
1000 |- —8ut
ok
N 600
~1000 ™ .
n 40(
~2000 |-
- 20(
~3000
N [ ]
mnnIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II ﬂ
40 -30 -20 -10 0 10 20 30 40 50
diff _bpmEfum



asym_sam?2

asym_sam4

asym_samb6

asym_sam3

run3679 000 reg

diff_bpmdeX

diff _bpmdeY

5 ¥2/ndf  51.66/37
3”00"-‘:— 4 p0 -31.19 + 15.78
20000 F Jﬂ[Hﬂ*m p1 -3127 + 8.8

SRR
10000 |

of
10000 |

_ Sy
20000 - +f|+++_-

:H}DDD iI- 1 1 1 1 | 1 11 1 | 11 1 1 | 1 |+-| 1

=10 =5 o 5 10

diff_bpmdaX

E W indf  222/37
20000
15000 - _++ p0 —2.82 +9.17
o000 |- - #% p1 ~1581+ 5.1
- e,
5000 |
oF
~5000 — _
5 s
10000 |- Wty -
- ,r+’r+
15000 —l | | | .
_—1D | | 1 | _5 1 11 | ﬂ 11 1 | 5 | 1 1 1 1D

dlthpmélaL

¥*/ndf  44.86/37
p0 17.04 £ 8.30
p1 1680 + 4.6
U
~5000 —
- -
10000 bﬂ!‘”
15000 — -
20000 — _
o
10 5 0

5 10

diff_bpmdaX

¥2/ndf  21.77/37
p0 2.57/1 + 8.341
p1 1462 + 4.6
o
-5000 |
: _} .|J'+++Hf#
10000 t
15000 [~ 1
20000 '— - |

M_-

)
+

= -

15000 - — - -
- - w2 /ndf 1495/ 31 #0000 F ¥2/ndf  38.23/34 : } w2/indf  187.7/33
L - - 15000 |-
10000 - * p0 _28.3 + 25.8 30000 ¢ i p0 -10.15+9.48 ' p0  -31.98 + 2595
- N & 10000 |
5000 [ h{wﬁ"" D1 _215+ 4.4 20000 |~ . p1 ~694.6 £1.0 F | pi ~230.7 £+ 6.9
F 10000 |- =000 J ++ }
or i - ’ HWHH# |
- - ﬂ_
- " o N
sono | %}W _ : : \WN+
[ ++ | 10000 ~5000 _
10000 [~ - - o, -
N - 20000 - ~ 10000 - -
15000 : X MH‘{" i }
— - _ 15000 |
_||||||||I||||I||||||II|IIII|IIII|IIII|I EH}DDD—_l IIIIIII ||II|III ||II|II I ||||||||||||II||||||||||||||II|IIII|IIII|IIIIII
30 -20 -10 0 10 20 30 40 —60 ~40 20 0 20 40 20 15 10 5 © 5 10 15 20 25
diff bpm4aY diff_bpmdeX diff bpmdeY
¥2 / ndf 146.2 / 31 F x2 | ndf 38.21/ 34 ¥2 / ndf 127.6/33 }
20000
p0  -13.91+12.92 + A\— i ST p0 6.252 + 5.191 p0  -19.01+ 12.67 w "
] - "
*ﬁ - #+ B 3
p1 2446+ 2.2 R o000 E- . p1 370.3+ 0.6 p1 418.2+3.3 Mjrffpl
2000 | n A il }
- 5000 -
or- B ™
N ﬂ__ 'D_—
2000 - I }
N 5000 i 1
-4000 | - 1 ## : . _so00 | ++++-|-++
6000 - 10000 | S -
C - %*1 I 1
_8000 - 15000 il I |
: I||||I|I||||I||||||II|IIII|IIII|IIII|I :l IIIIIII ||II|III ||II|_II 1.DDDD_Illl||||||||||||||||II|IIII|IIIIIIIII|IIII|IIIIII
a0 -20 -10 0 10 20 30 40 60 ~40) 20 0 20 40 20 15 10 -5 © 5 10 15 20 25
¥2 / ndf 143/ 31 12 / ndf " 34.51/34 12 / ndf " 160.5/33 }
- ++*" -
00 15.61+ 13.66 + | ] p0 5.99 + 4.78 Iy p0 175+ 13.8 -
p1 1334+ 23 MM‘M p1 3735+ 05 p1 152.8 + 3.6 W {
i oF o //‘» }
er n -
- } =000 -2000 | ’rﬂﬂf*
2000 1 - -
C H Hyd - P ~4000 | H
- |J 10000 | e E
4000 V : ar 6000 [
: 15000 | o C
~6000 [ : ~8000
- 20000 - _ 10000 | }
“BOOO b b b b e b b il N T T N T T T T N N T N T N A Lol b b b b b b s bern by
30 -20 -10 0 10 20 3D 40 ~60 ~40 20 0 20 40 20 15 -10 -5 © 5 10 15 20 25
diff_bpmd4aY dlthpmégL diff_bpmdeY
BOOD [~ — .
- - ¥e | ndf 136.5/ 31 %2/ ndf 37.07 / 34 2000 - | ¥e | ndf 119.1 /33
go00 +
- { H‘ﬂ p0 1248 £11.92 p0 -6.168 + 4,556 ;r’* BOO0 {[WM p0 17.24 + 11.71
4000 - - e - I
: 4 o1 2186+ 2.0 p1 342.4 + 0.5 4000 £ iy pi ~373.4 + 3.1
200 + - 2000 }
of- °F n;
w000 - -5000 |- ~2000 |- }
B L E :..:- :_
_4000 - *‘lﬂf 10000 |- "l ~4000 b 114{b“r -
- n Iy 6000
6000 - { 15000 f - |{ i
- - 5 ~8000 [ i
-B.DDD__II E.DDDD__ 1DDDD:_Illl|||||||||IIII|||||||||||||II|IIII|IIII|IIIIII

24W vs diff bpm-fit

gressmn asym Ssam

- postpan.png

20 25

diff _bpmE

%2 [ ndf 20.43 /32
p0 -42.23 + 25.90
p1 131.7 £ 3.4
10000 :—
i ki
of k* M/dw {IHN
[
10000 :—

_bpmE

%2 | ndf 23.9/32 -
p0 -10.77 £ 13.58
p1 1186 £ 1.8
10000 |
5000 -
. wﬁﬁ *
“:_ ,‘“ / -
~5000
: | | 1 | | 1 | | | | | | I | | 1 | | | |
~an 20 0 20 a0

"-"1

iff bpmE

Z 52
5000 |- } / ndf 19.39/ 32
| e p0 21.81+13.83
oF T T
- | p1 —-67.44 £ 1.83
=5000 :— L
10000 :—
15000 :—
20000 _
I I T T A TR AT N N T A R N T A B
-40 =20 0 20 40
diff_bpmE
A { %2 / ndf 23.05 / 32
2000 ~
i WM\ p0 9.561 + 12.477
D_
- ! p1 -108.4 + 1.6
=5000 :— ]KH |
10000 :—
15000 :—
20000 :_I | | | | -
_.‘H} 1 1 I_E_D 1 11 D 1 1 IE[:I 1 1 1 ‘H} 1 1 1




reg_asym_sam?2

reg_asym_sam4

reg_asym_samo6

reg_asym_samg§

run3679 000 re

diff _

2000

1000

=1000

=2000

=3000

=4000

_bpm4aX

diff

2000

1500

1000

500

=500

=1000

=1500

- %2/ ndf 42.02 /37

i * p0  -2.726 + 6.279
f Jp[ p1 _3.722 + 3539
= Mmm !

- [l W

1" | -I 1 | | 1 | | | | | | 1 | | | 1 | |

=10 =5 (1] 5 10

_ - +2 [ ndf 29.36 / 37
2 PO 0.4272 = 2.6655
_ * p1 —0.1534 + 1.4988
- -

_l | | 1 | | 1 | | | | | | 1 | | | 1 | |

=10 =5 (1] 5 10

diff_bpm4aX

p0

p1

%2 [ ndf

38.34 / 37 }
0.75589 + 2.2423

0.1967 = 1.2660

Wﬂ#ﬂh}“ H

=500

=1000

=1500

=2000

=10

diff

1500

1000

500

=500

=1000

-5 0 5 10
¥2 { ndt 3158737
- pl -1.154 + 2289
p1 -0.07471+ 128874

i

H{MMWJ}WI

!

.

]
—_

-m

oression reg

- 2 [ ndf 29.99 / 31
3000

B p0 -2.508 £+ 6.311
2000 -

B p1 —0.8823 £ 1.0908
1000 - - 1“
~1000 | { -
~2000 |
_MDD;l||-||||||||||||||||||||||||||||||||||||

30 -20 -10 0 10 20 30 40

diff_bpmdaY

1500 = %2 f ndf 25.08 / 31
i n0 —0.6200 + 2.6764
1000 —
I p1 —0.4275 + 0.4655
500 — {
R J‘Wmﬂaﬂwtﬁﬂﬂm
°’r ‘ﬂhﬁh i
=500 | )
_III|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I
30 =20 =10 (1] 10 20 a0 40

diff_bpmdaY

}:.'rldf 24.49 7 31
pO 0.9268 + 2.2551
p1 0.03978 + 0.39182
400
200 \|} | | )
200 - | 1
-400 [~ i
600 [~ i
Cova bvvra v brrna bvva v beana bvraa

-30 =20 =10 1] 10 20

diff_bpmdaY

¥/ ndt 4568 /I

an 40

pO —0.07838 + 2.29821

p1 l[]_dlEEE + 0.4007 W{-H
i M -

=400

=600

- 800
=1000

=1200

sam2468 Vs

- w2 [ nf 35.87 / 34
3000 N
- p0 —-3.386 + 6.288
2000 —
- p1 -0.3539 + 0.6767
1000 :— - w ‘_
- (P E——— }
]y **WM
~1000 :— }
~2000 :— i
_|III|III|III|III|III|II
g S T =20 (1] 20 40
%2 | ndf 35 06/ 34
po 0.5374 + 2.6685
pi 0.0919 + 0.2861
1000 —
EDD:—
sof |
:|III|III|III|III|III|II
~g =4 20 (1] 20 40
%2 [ ndf 43 16/ 34
p0 1.092 +2.247

pi 0.1157 + 0.2432

1:-— - | +H@#+ﬂb;m-—e-+ﬁ++hﬂhﬂh}

g

- ¥/ ndf 30,827 34 ¥ ndi 20,49 /33
500
i H pO 1272+ 223 po —0.009769 + 2204830 1 |
[ p1 —0.03966 + 0.24513 o 0.7372 £ 06118 # 1
of MHHW “"“""ﬁ*#qm k
i i, N T
_ | | -200 |- L |
_E-DD_— _mn:_ +
i ~B00 [
~1000 - 800
- ~1000 |
~1500 |- -
s “1200
[ IIIJ_III ||II|III |||||||||||||IIII|||||||||||||II|IIII|IIII|IIIIII

~diff bp

m-fit postpan.png

diff_bpmdeY

- ¥2 | ndf 52.14 /33
3000 |-

C p0 -2.69 + 6.30
2000 |

E } p1 -2.369 + 1.669
1000 |-

; }} Wﬂ b

o 7& M

e}
~1000 |
~2000 |-

L4

||||||||||||||||||||||||||||||||||||||||||||||I|
000y 48 10 5 o 5 10 15 20 25

diff_bpmdeY

Bl %2 { ndf 29.39 / 33
i p0 —0.7095 + 2.6723
1000 -
Z p1 —0.6903 £ 0.7119
EI}D_—
N L —— } _
or }[HM} } IH{M
-EI}D_—
_II|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I
20 =15 =10 =5 (1] 5 10 15 20 25

91

iff bpmdeY

1200 |

u 72 ndf 46.35 /733
1000 |
400 :_ p0 0.7222 £ 2.2510
600 | pl  -0.4912 +0.5988
400 [
200 + + }

of } hﬁ#ﬁ%—#ﬁﬁ}ﬂi

; } Jﬂr 4 H\ld
200 }
400 } i
-600 _
-800

SNITRIRAINETI ATETERTENI ANTRINNTN I (NIRU IRNTURTRTAR

=20 =15 =10 =5 1] 5 m 15 20 25

diff_bpmdeY

20 25

%

bpmkE

3000 |- 12 1 ndf 21.8/82
2000 :— F:Iﬂ -5543 £ 6.277
1000 |- J p1  —0.0117 +£0.8298
- 1
1000 4 !
-2000
3000 [~
4000 }
- | 1 1 1 | 1 11 | 1 1 1 I 1 1 1 | 1 1 1
—40) _20 0 20 40
diff _bpmE
%2 { ndf 36.22/32 i
p0 -0.7736 £ 2.6642
pi 0.1049 £ 0.3528
1000 |-
500 |- {
: +| }
.|]._— ) P‘ Mmﬂu }-M
500 |
: | | 1 | | 1 | | | | | | I | | 1 | | | |
—40) _20 0 20 40
diff_bpmKE
1000 — T ¥2 | ndf 345/ 32
I p0 1.101+ 2.242
2001 p1 —0.02892 + 0.29801
ol hﬂwjfﬂ'hl }
i | } + {.1
500
_1000 |- l
oo o b oo oo

91

600

400

200

=200

- 400

-600

800

=1000

=1200

-40 =20 0 20 40
:_ ¥2 | ndi 33.17 /32
: } p0 ~0.1796 + 2.2877
s M pl  —0.05998 + 0.30336
i T

: | 1 1 1 | 1 11 | 1 1 1 I 1 1 1 | 1 |- 1

-40 =20 o 20 40




asym_sam?2

asym_sam4

asym_samb6

asym_sam3

run3679 000 regression—asym Sam

40000

30000

20000

10000

10000

20000

30000

‘III|I II|II I|III |III |III| IIIII II|II I|III
10 -8 -6 -4 -2 0 2 4 6 & 10
diff_bpm4aX/um

25000

20000

15000

10000

5000

1]

=5000

10000

15000

oty b by a by b by b byv g laag
Eﬂﬂﬂq1ﬂ -8 -6 -4 =2 0 2 4 & 8 10

diff_bpmdax/um
diff_

15000

10000

5000

=5000

10000

15000

20000

prr b tvrr b bvrn bers v beaa braa e
-0 -8 -6 -4 -2 (1] 2 4 & A 10

diff_bpmdaX/um
diff

. — -
15000 [ 15000 |
10000 — 10000 E—
5000 — 5000 E—
~5000 — ~5000 f—
10000 — 10000 f—
15000 — 15000 f—
20000 E;Il.lll |||||| |||||| |||| ||||| |||||| ||||| 2000 %]l 111 |||| |||| ||||. ||| ] ||I

diff
40000
30000

20000

10000

10000

20000

30000

T | |II II| 1111 |II II| 1111 III III 1111 |II 11
30 -20 -10 O 10 20 30 40
diff_bpmda¥ium

25000

20000

15000

10000

5000

5000

10000

15000

cla v b by by beaa s by laaa g
-30 =20 =10 0 10 20 30 40
diff_bpm4a¥ium

20000

15000

10000

2000

=5000

10000

15000

20000

plvvvabvrvr bvvra v bevra berwn b o
~30 20 =10 (1] 10 20 ab 40
difi_bomdaYium

diff_bpmd4aY

30 =20 =10 1

-vS d

40000
30000

20000

10000

10000

20000

30000

2
5
3
5

20 40
diff_bpmdeX/um

25000

20000

15000

10000

5000

=5000

10000

15000

AN S N [N T T N T T T N T [N T SO B B
EDDDQED -40 =20 0 20 40

diff_bpmdaX/um

15000
10000

5000

=5000

10000

15000

20000

2
5
3
o

20 40
diff _bpmdeX/um

df_

10000

5000

=5000

10000

15000

20000

(1]

1 |_J |
.

pm=scat pos

diff _

40000

30000

20000

10000

10000

20000

30000

200 <15 10 =5 O 5 10 15 20 25

diff_bom4eY/um
diff

25000
20000
15000
10000
5000

1]
= 5000

10000

15000

SO000 jlIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III”

20 <15 10 -5 O 5 10 15 20 25
diff_bpmdaY/um

15000

10000

5000

=5000

10000

15000

20000

20 -15 -10 -5 © 5 10 15 20 25
diff_bomdeY/um

=5000

10000

15000

20000 -

20 =15 =10 1 20 25

tpan.png

40000

30000

20000

10000

10000

20000

30000

Sm

=30 =20 =10 0O 10 20 30 40 50

diff_bpmEfum
diff _

25000

20000

15000

10000

5000

0000 IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III”II

—40 =30 -20 -10 O 10 20 30 40 50
difi _bpmEfum

15000

10000

2000

=5000

10000

15000

20000

-40 =30 -20 10 0O 10 20 30 40 50

diff_bpmEfum
diff_bpmE

15000
10000

S000

=5000

10000

15000

20000

2

30 =20 <10 0O 10 20 30 40 50
diff _bpmEfum



reg_asym_sam

reg_asym_sam

reg_asym_sam

reg_asym_sam

run3679 000 r

10000 [—

5000 -

=5000 [~

10000 [~

111 | 111 | 111 | 111 | 111 | 111 | 111 I 111 | 111 | 111
10 -8 -6 -4 -2 0 2 4 6 & 10
diff_bpm4aX/um

3000

2000

1000

=1000

=2000

=3000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

|||||||||||||||||||||||.|||||||||||||||
_4ﬂnq1ﬂ -8 -6 -4 2 0 2 4 [ g 10
diff_bpmdaxsum

4000
3000
2000

1000

=1000

=2000

=3000

prlvrrbere v berr b b bvra bvvan b
-4ﬂnq1ﬂ -8 -8 -4 -2 (1] 2 4 & A 10
difi_bpmdaXium

3000

2000

1000

=1000

=2000

=3000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

III|III|III|III|II |I.II|III|III|III|III
00T s a4

10000 [~

2000 —

5000 —

10000 [~

1 1 | 1111 | 1111 | 1 111 | 1111 I 1 111 I 1111 | 1 111
30 -20 -10 O 10 20 30 40
diff_bpmda¥ium

3000

2000

1000

=1000

=2000

=3000

=
—IIIIIIIIIIIIIIIIIII|IIII|IIII|IIII|IIII

|||||||||||||||||.|||||||||||||||||||
-30 =20 =10 0 10 20 30 40
diff_bpm4a¥ium

iff_ bpmdaY

4000

~4000

3000

2000

1000

=1000

=2000

=3000

plvvvabvrvr bvvra v bevra berwn b o
~30 20 =10 (1] 10 20 ab 40
difi_bomdaYium

=4000

3000

2000

1000

=1000

=2000

=3000

=4000

egression-reg sam

i468vs d

10000 [~

5000 -

=5000 [~

10000 [~

60 40 _20 0 20 40
diff_bpmdeX/um

3000

2000

1000

=1000

= 2000

=3000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

—WDD"'llllllllllll.llllll
diff_bpmdeXium

2
5
5
.
3
3

iff_bpmdeX

4000

3000

2000

1000

=1000

=2000

=3000

—4ﬂDD I A NN T N [N T N N N T M N NN N M A
diff_bpm4aX/um

2
5
5
.
3
3

3000

2000

1000

=1000

=2000

=3000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

iff bpm-sca

10000 [—

5000 -

=5000 [

10000 [—

20 -15 -10 -5 © 5 10 15 20 25
diff_bom4eY/um

3000

2000

1000

=1000

= 2000

= 3000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

_mnn_IlIIII|IIII|IIII|IIII|II.II|IIII|IIII|IIII|IIII|

20 <15 10 -5 O 5 10 15 20 25

diff_bpmdaY/um
jij[ﬂlf:___

4000

3000

2000

1000

=1000

= 2000

= 3000

4000 Colvv bevnr vl b e bvrea v benaald

20 -15 -10 -5 © 5 10 15 20 25
diff_bomdeY/um

3000

2000

1000

= 1000

= 2000

= 3000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

_WDD-IlIIII|IIII|IIII|II.II|IIII|IIII|IIII|IIII|IIII|

t postpan.png

10000 [—

5000 —

5000 —

10000 [—

=40 =30 =20 =10 0O 10 20 30 40 50
diff_bpmEfum

3000

2000

1000

=1000

= 2000

=3000

=
IIIIIIIIIIIIII|IIIIIIIII|IIII|IIII|IIII

~4000

3

30 =20 <10 0 10 20 30 40 50

difi _bpmEfum
ifL

4000

3000

2000

1000

=1000

= 2000

=3000

4000 prvrbvrre berrr b bvvrn bvrna e beraa bvrna b

-40 =30 -20 10 0O 10 20 30 40 50

diff_bpmEfum
ifL

3000

2000

1000

=1000

= 2000

=3000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

IIII|IIII|III.I|IIII|IIII|IIII|IIII|IIII|IIII|II
4&&04ﬂ 30 =20 <10 0O 10 20 30 40 50
diff _bpmEfum



asym_sam1

asym_samJ3

asym_samd

asym_sam’7/

=2000

=4000

~6000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

~BDO0 " N

—100

1]

-10 -8 -6 -4 -2 0 2 4 6 8 10

diff_bpm4aX/um

20000

10000

10000

20000

—16(

—14(

—12(

— 100

80C

600

400

200

-10 -8 -6 -4 -2 0 2 4 6 8 10

difi_bomdaXium
diff _bpm4aX
6000
4000

2000

=2000

=4000

(1]

—12(

—{ 100

6000 b b b b b beaa b e b

(1]

-10 -8 -6 -4 -2 0 2 4 6 8 10

diff_bpmdaX/um

20000
15000
10000

5000

1]

=5000

10000

15000

20000

25000 u

—16(

—14(

—12(

— 100

80C

60(

400

200

run3679 000 resression-asym sam

:
E

:
%

N N | a0 N I—
2000 j‘l —la5( 2000 — A000 jl 2000 — [ |
N H N B N [ | —12(
&000 BOO0 BOO0 o s000
- _-:'H}': - - -
4000 | 4000 | 4000 | apoo ™ e
n —[25t n i —{z0 n
2000 2000 |- 2000 |- 2000 - ..
i 20( i [ i
O o o 15( O
" L C N [ | B0
~2000 15L ~2000 [ 2000 - ~2000
i i B 100 i
~4000 |- 100 ~4p00 |- ~4p00 |- ~4p00 |- 40t
8000 |- o ~B000 |- -6000 |- 500 6000 |- - 200
C N N n N [
~BDOO .l u ~B0O0 u - 8000 [ N ~BDOO u u
N |IIII|IIII|IIII|IIII|IIII|IIII|IIII ﬂ _II | | 1 11 | | | II 1 | | |I | | I | ﬂ _IlIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII| D _IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II ﬂ
-:m 20 =10 O 10 20 30 40 60 40 20 0 20 40 20 -15 -10 -5 ©0 5 10 15 20 25 40 -30 -20 -10 O 10 20 30 40 50
diff_bpmdaYium diff_ bpmdeX/um diff_ bpmdeYium diff_bpmEium
i I— - = I— i I— - s i I— -
B —{1.2( —g0or B
20000 20000 20000 20000 — " a —10¢
i [ —10¢ i
B —{10( B —500 B
10000 10000 10000 - 10000 8oL
—{ 800 — 40
| | | 0L
ol m | —goc o 0 BOC ol
I 40( I 400 I 40t
10000 10000 10000 10000
300 - 20 .. 200
20000 20000 20000 20000 .
_II|IIII|IIII|IIII|IIII|IIII|IIII|IIII {' _II | | 1 L1 | | | II 1 | | |I | | I | _IlllII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII| D _IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II ﬂ
a6 -20  -10 O 10 20 30 40 &0 40 20 ) 20 40 23 -15 -10 -5 ©0 5 10 15 20 25 40 -30 -20 -10 O 10 20 30 40 50
diff bpmda¥ium diff bpmdeX/um ditf_bpmdeYium ditf_bpmEium
diff _ diff " bpmdeX  diff_bpmdeY diff _
BO0D —{as¢ OO0 . Bo00 |- —|30¢ BO0D
- . - -
i i i —{12¢
4000 —30c 4000 o 4000 —125¢ 4000
i [ i —{10c
. —|=5( . .
2000 2000 o 2000 gy 20 2000
| | i —(80(
i 200 i i
0 o o 150 0
I 15¢ = [ m | (B
~2000 ~2000 - 2000 100 - 2000
- 10( - - 40(
~4000 - sor ~4000 - ~4000 | 500 ~4000 i 300
B i L i | |
00D NEEEENIEEEEE SIS REEREENE RN EEE N 0 G000 L1 | N T N N N T S N N N N A A I 0 _E000 bbb b b b b bl 0 000 ol b b b b b b Ll 0
a0 =20 -10 O 10 20 30 4D &0 40 30 0 20 40 2y -16 -10 -5 ©0 5 10 15 20 25 40 -30 -20 -10 O 10 20 30 40 50
diff_bpmda¥ium diff_bpmdeX/um diff_bpmdaYium diff_bpmEium
diff _ diff_ diff_bpmdeY diff_
20000 - 20000 20000 20000 -
- - —{500 - - —{10c
15000 15000 15000 —10( 18000
= —{10( = " =
10000 10000 10000 | 10000
- n —lanc n n —{8oc
5000 £ 5000 - 5000 - - 5000 -
n —{800 - - W -
N - N N | - N
o oE 300 o o BOL
- - - n BOC -
~5000 -5000 ~5000 -5000
N N B [ | N
10000 10000 20( 10000 400 10000 — 40(
15000 — 15000 15000 15000 —
20000 |- - 20 20000 100 20000 = 20 20000 | 2
25000 25000 25000 | 25000 |
[ _||||II|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII| IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II ﬂ

sam1357vs diff “bpm-COLZ postpamn.png

40 =30 -20 -10 O 10 20 30 40 50
diff _bpmEfum



reg_asym_saml

reg_asym_samJ

reg_asym_samd

reg_asym_sam?/

run3679 000 r

diff_bpm4aX

2000 - - -
: —{aoc
1500
- —{7o0
1000 "n
- m —{60C
800
o™
~500
~1000 - [em
1500 - -

-2000 |
‘EEDD:rllllllllllllllllll|||||||||III|III|III D
0 -8 -6 -4 -2 0 2 4 6 8 10

diff_bpmdaX/um

dift

B —

B |

- —{as¢
8000

- m "
6000 - * . — 30
4000

n m ] —{z5¢
2000 F

200

ﬂ -
~2000 [~ 15(
4000 —
- 100
B |
6000 | I. .
L - 500
~8000 I~ I
_III|III|III|III|III|III|III|III|III|III
w0 % 4 =2 o 2 4 & & 10 V
ditf bpmdaX/um
diff
. . —12¢
1500 |
- —10¢
1000 |
500 — 80
of
-500 |-
~1000 |
~1500 - L
- m
G b b b b beea v b braa b
200 % 4 2 o0 2 4 & 8 10 ©
diff_bpmdaX/um
diff
C — —|zar
4000 1‘ oz
- _! . _
3000 |- - 200
- —18¢
2000 F
. —16¢
1000
oM
- |
-1000 u
-2000
-3000 “
- N :.
- I
~4000 | 200
_III|III|III|III|II |III|III|III|III|III
B TR S —

egressmn-wreg_

a — a
2000 | 2000 - - .- =
- —10( - —B0C
1500 |- 1500 =
- - —{70(
1000 1000
- —B0i -
= [ N —G0C
500 [ 500 =
of o, ™
- -
-500 | ~500
~1000 |- m ~1000
~1500 ~1500
~2000 |- -2000 |- - 10¢
‘EEDD '_l_l | 1111 | 1111 | 1 111 | 1111 I 1 111 I 1111 | 1 111 ﬂ ‘EEDD __I | | | 1 1 1 | | | | I 1 | | | | | | I | ﬂ
30 -20 -10 O 10 20 30 40 G0 40 20 0 20 40
diff bpmdaYium difi_bpmdaX/um
n (I n
- m 41 n
8000 8000 —135¢
= — 400 =
6000 [— 6000 [~ .
N —35( N
4000 4000
n —30( - —25(
2000 2000
ob ol 22 ol 200
- 200 [
=2000 = -2000 15(
-4000 150 _4000 -
n n 10(
~B000 [ 1 1o 6000
N N SO0
8000 — [ 20C 8000 —
1'DDDD n | 1111 | 1111 | 1 111 | 11 11 I 1111 I 11 11 | 1 111 {' 1'DDDD [ 1 1 | | 1 1 1 | | | | I 1 | | | | | | I | ﬂ
30 20 -10 0 10 20 30 40 ~G0 —40 20 0 20 40
diff bpmdaYium difi_bpmdaX/um
'l- l
1500 | pm 1500 —{12¢
1000 [~ —42¢ 1000 = —10(
500 —10( S00 =
n m
O o
n n n
—EDD:- —EQD:'
~1000 ~1000 |
~1500 [ - 20 ~1500
n m " N
2000 ool vvva b vrvr bvvnrbvw v bvvra b ar b o 0 2000 I T N T T T N T M I I 0
30 -20 -10 O 10 20 30 40 ~60 40 20 0 20 40
diff bpmdaYium difi_bpmdaX/um
- l
- - —25(
- —30C -
4000 4000
= n |
3000 —{25¢ 3000 & l.' *.' —{=0c
2000 2000
- —{20( -
1000 1000 |-
- .
o [l o
: w15t :
~1po0 - ™ 1000 F
_2000 | 100 _2p00
3000 - -3000
n [ | 50C -
4000 ~4000 |

sami357vs diff Hpm-

diff_bpmdeY

2000

1500

1000

500

=500

=1000

=1500

= 2000

- 2500

8000

6000

4000

2000

= 2000

=4000

=G000

=B000

10000

diff _ hpmélcY

1500

1000

500

-500

= 1000

=1500

= 2000

4000

3000

2000

1000

= 1000

= 2000

=3000

=4000

AN RN RARRS LA RARLY RALLS RARE=RRLRE REARE RAN

—rlllII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|

20 -15 -10 -5 © 5 10 15 20 25
diff_bom4eY/um

b

20 <15 10 -5 O 5 10 15 20 25
diff_bpmdaY/um

L L L L IIIIII

20 -15 -10 -5 © 5 10 15 20 25
diff_bomdeY/um

_hpméleY

F

—Eﬂ 15 =10 20 25

postpan

—10(

400

200

—(35(

—25(

200

150

100

500

— 14

—12(

— 100

80C

600

400

200

—25(

— 200

15(

100

Tl)ll,(_’,

a —
2000 |- —lane
1500 |- —80C
1000 —70(
= m
500 ;‘ —lsor
o m | =500
=500 ;‘ 400
-mnnj—.' 00
~1500 |- 20(
~2000 |- . 100
‘EEGU:rllllllllllllI|IIII|IIII|IIII|IIII|IIII|IIII|II ﬂ
40 -30 -20 -10 © 10 20 30 40 50
diff_bpmEfum
dift
| — ]
n m 40
8000
- - - —asc
000 -
B |
4000 - - P
n n m
2000 —{25(
n m
O 200
2000
. 15(
4000
B |
n 10C
6000 - N L‘-
- - E N
- 50(
~B000 I~ N
1ﬂnnn_IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II ﬂ
~40 -30 -20 -10 © 10 20 30 40 50
difi _bpmEfum
l-
_ —14(
1500 |
- —{12¢
1000
- —10¢
500 Fm
N
n W | —s0C
b
-5430:— BOC
1000 F 40(
~1500 " = 20(
n m
2000 Covnr bvvvebvrrr b v bvvne v bevnn bvvnalg 0
40 -30 -20 -10 © 10 20 30 40 50
diff_bpmEfum
-
- —{25(
4000 m n"
: -_|J-
= |
3000 ;‘ [
- u —20(
2000
1000 |
- - 15(
0
-1000
: 0L
B [ |
=2000 [ [
- g "gm
~3000 | rl 500
4000 "n '.‘
E'DEIU_IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II ﬂ

-40 =30 =20 10 O 10 20 30 40 50

diff _bpmEfum



asym_sam1

asym_samJ3

asym_samd

asym_sam’7/

run3679 000 reg

diff_bpmdaX

¥2 / ndf 39.08 /37
pO -10.26 £ 517 +

p1 26.51+ 2.90

Mﬂpk

1]

=500

=1000

=1500

=2000

=10

diff_bpmdaX

25000

20000

15000

10000

5000

=5000

10000

15000

-5

1]

2 / ndf

p0
p1

3

-11.57 £ 8.60

10

38.04 /37

-1918+ 4.8

+H

e

H
+H++ b+ -

10

-5

1]

5

10

diff_bpmd4aX

¥ | ndf 40.68 / 37
p0 6.998 £ 3.591
p1 102.1x 2.0
500

of |
~500 — i i}h\w
~1000 — ) ) ]l +
1500 [ |
~2000 —l {
~10 -5

1]

5

10

dlthpmélaL

¥2/ndf  36.32/37
p0 1261+ 8.74
p 1979+ 4.8
o
~5000 —
10000 = e
E : +#'H-+£H
15000 — Jﬂ(
_ 3
20000
25000 — - | | O

diff _

8000

- v /indf 3472/ 31
G000 -
- '***a p0 _2.78 + 1.71
4000 £
[ ~ p1 -216.7 £ 0.3
2000 [
o
-2000 |-
4000 E_ *'*%m
~6000 [ -
-B.DDD:_||||||||||||||||||||||||||||||||_|||-|||
a0 -20 -10 0 10 20 3D 40

diff_bpmdaY

¥2 / ndf 144.3/ 31
p0 -16.7/1x15.45
p1 54 591 2.63
1000

o |
: \ H N
~1000 | - H
~3000 — ) _
3000 — - (
4000 —

30 =20 =10 1]

diff_bpmdaY _

¥Z / ndf 1221/ 31
p0 1.754 £ 1.266
p1 151.7x 0.2

ol
=2000 _— E
I N
u #-}"'“-
=4000 __ e

10 20

a0 40

-30 =20 =10 1]

diff_bpmdaY

10 20

an 40

diff_bpmdeX

gmlthpmélcY

¥2/ndf  39.41/34 - %2 I ndf 140.8 /33
B000 |- :t.
p0 _9.35+5.15 E p0  —0.9859 + 1.9610
4000 [~ .
p1 18.82 + 0.55 i - p1 -327.9+05
TOU0 = {f _ 2000 :_
N } N
i * £t of
- + -
o i
- } ~2000 |-
000 - 4000 - .
I ~6000 |- fLLUf,;
_2000 - i B - -
-l ||||||| |||||||| ||||||| -B.DDD—|||||||||||||||||||||||||||||||||||||||||||||||I|
60  -40 -2 0 20 40 20 -15 -10 -5 © 5 10 15 20 25
diff_bpmdeX diff bpmdeY
25000 - 22 / ndf 38.73 / 34 %2 / ndf 152.2 /33
20000 - )
- 1_+_1 p0 0.7167 £ 1.5461 p0 -20.44 +15.36
15000 |- .
- s p1 -437.4 + 0.2 D1 139 +£ 4.0 |
10000 = M -
5000 f— | ll
ﬂ;_ ﬂ_— |‘ _|_+ +_|_4-
- - bf“ _
-5000 |- - “
: ~2000 -
10000 e . W
15000 i— h"*ﬂ ~4000 I }
E.DDDD:_l ||||||| |||||||| |||||1‘-|| _I||||||||||||||||||||||||||||||||||||||||||||||I|
60 40 -20 0 20 40 20 -15 -10 -5 © 5 10 15 20 25

diff_bpmdeX

¥2 / ndf 39.3/34

p0 5413 £ 3.625

p1 14.77 £ 0.39 } )

e +H}L} J
oF

ol M

00| {
_| [N TN N N T TN T T T N T T N N TN A
~6 =40 =20 1] 20 40

diff_bpmdeX

4000 |- %2/ ndf 144 / 31 v2/ndf  18.82/34
3000
: pO 17.3 £ 158 p0 ~0.429 + 1.370
2000 i
- I H -56.19 + 2.71 p1 4498 + 0.1
1000 = T | Jp[ -
i f of
ofF -
g N+ ] B - 5000 f—
~1000 _- -
- l 10000 - A
-2000 i n
- i} 15000 -
-3000 : &
- 20000 -
-4000 -
:I L 25000

saml13587 vs d?i“‘fﬁt

gressmn asym Ssam

diff_bpmdeY

E.lrl'll:“ 293.8/ 33
L+
pO 0.8783 + 1.5458 4
i
pi 2257 + 0.4 -~
ol
_2000 |- y
B ‘;_-f"
B o
B +
4000 - W
L
_|||||||||||||||||||||||||||||||||||||||||||||||||
=20 =15 =10 =5 1] 5 m 15 20 25

4000

2000

= 2000

=4000

=600

|
h

ﬁl

diff_bpm4eY

¥Z / ndf

p0

151.9/ 33

21.34 £15.75

-143.6 £ 4.2

-II|IIII|IIII|IIII|IIII|IIII|IIIIIIIIIlIIIIlIIIIII

- POS

stpan.png

20 25

-
:

; x2/ndf  35.52/32
3000 p0 -8.628 + 5.076
wooo | pl -34.92 +0.67
1000 -| ’r
- f
of
1000 :— HV«W -
i | | | | | 1 1 1 | | | | I | | 1 | | | |
~2000 L - =
%2/ ndf 19 75/ 32 )
p0 -17.68 £ 15.14
p1 108.2 £ 2.0
10000 [
5000 L‘
- 2 }
- 4 }Hﬁw
~5000 |
'H]EIUI'_'I-—||||||||||||||||||||
40 20 0 20 40
diff bpmE
¥Z [ ndf 33.17/32
p0 6.206 *3.614 'l]H {
pi 18.03 + 0.48 e ~
; b
a0 +
- 1000 f— )
- 1500 f— If
- 2000 E—
- 2500 f—
Cl oo o b b o oo g
40 20 0 20 40
diff_bpmE
10000 | —
: | ¥2 / ndf 19.37 /32
o paiT p0 19.35 + 15.54
~5000 |- 1“”
10000 [
15000 [
20000 |-
EEEIE“:I :_l | | | | 1 1 1 | | | | I | | 1 | | I- |
40 20 0 20 40




reg_asym_saml

reg_asym_samJ

reg_asym_samd

reg_asym_sam?/

run3679 000 regression reg sam

i +2 [ ndf 36.86 / 37
. 00 _3.439 + 1.668
500
I pi ~0.9979 + 0.9438
I } H]‘I|
ok Wﬂh
| _Wﬂ |
500 — |
1000 — )
_l | | 1 | | 1 | | | | | | 1 | | | 1 | |
=10 =5 (1] 5 10
2 [ ndf 4715737

po 0.5623 + 1.4180

p1 1.145 + 0.818
4{?0_—
200 ’ H t
ﬂ:— - |H]&+fﬁpwpm%wm |
200 |
~a00 |
:l | | 1 | | 1 | | | | | | 1 | | | I_I |
=10 =5 (1] 5 10
%2 / ndf 31 a1 / 37
po 1.305 + 0.953
pi 0.4398 + 0.5396
200 . r
e +
o | M}WWWMH__
-E{:ID_— {
a0 - } )
:||||||||||||||||||||
=10 =5 1] 5 10
w2 | ndf 4412!3?
po 0.2214 +1.2180
pi 1.105 + 0.692 )
D:— 'hlv[w’rﬁﬂh“""““"“"‘"*‘ﬁ“‘ifﬂ% | i
-200 { M
_4,|}|:|:— -
-600 |
800 |
_H}DD:_ I|III |IIII|III-I

diff_bpmdaY

+2 | ndf 58.85 / 31
p0 -3.133 + 1678

p1 0.1335 + 0.2914 i}

0 ;— 1{1 w H“ﬁ*hﬂ**mﬂ""m‘;#fﬂ |

-s{m:—

“1000 | )
oo v v b bvnna b bvvnn By 1y

=30 =20 =10 1] 10 20 30 40

%9-.

iff bpmdaY

diff_bpmdeX

1200 f— %=/ ndf 40.21 /34
1000 |~ pO0 ~3.727 £ 1.670
800

C pi -0.1243 £ 0.1795
BOD - |’r
400 - ‘
200 k -

oF T 7] MMM }

n | 1 PHM
200 | - }
-400 |- |
_E"DD __| 1 1 1 I 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1

~60 —40) ~20 0 20 40

12/ ndf 43 36 [ 34

po 05068 + 1.4149

pi 0.2265 + 0.1577

i %2/ ndf 44.31 / 31
400 N p0 03113 £1.4278

B p1 -0.1792 £ 0.2352
200

oF } Mﬁﬁwﬂﬂﬁﬂ _

- 200 -
~ 400 _

_III_lIIII|IIII|IIII|IIII|IIII|IIII|IIII|I

30 =20 =10 1] 10 20 30 40

diff_bpm4aY

i ‘,:{2 ! ndf 5576/ 3
00T p0 0.9818 + 0.9588
200 — pi —0.06796 + 0.16569

T MW“MEH{
— 200 — ‘H‘ =
400
_EDD_III_lIIII|IIII|IIII|IIII|IIII|IIII|IIII|I

-30 =20 =10 1] 10 20 a0 40

diff_bpmdaY

%2 [ ndf 42.25 1 31

po 0.40653 + 1.2264

pl 03311 £ 0.2082 _
W}Hﬁwﬁ_ |
"

1000 F
500
o e
500 ]l
:l 1 1 1 I L1 1 | | I | | | I | | | I | | 1 1
60 40 30 0 20 40
diff bpmdeX
}:2 ! ndt 38.15 /34
p0 1.402 + 0.954
p1 0.04973 £ 010287
o —‘ hHPMWWmﬁM 1
200
=400 —
o T T N T T T T T T T O O A O
60 40 30 0 20 40
12 / ndf 24 93 /34

po 01208 + 1.2201

p1 0.1337 +0.1330

T

200 “

=200

=
IIIIIIIIIIIIIIII

- 400

diff_bpmdeY

¥* { ndf 39.35/ 33
pO -3.128 + 1.674

p1 0.08584 + 0.44432 -

T . d
o
-5{:0:— |

20 <15 -10 -5 O 5 1 15 20 25

diff_bpmdeY

i 2/ ndf 29.45 /33
400~ p0 0.04683 + 1.43106
- pi ~0.2033 + 0.3626
200 -
= +WHW‘
or }“}H‘ ; H][ -
—E[?EI_— {
—4{?0-—
_II|IIII|IIII|IIII|IIII|IIII|IIIIIIIIIlIIIIlIIIIII

20 <15 <10 -5 O 5 1 15 20 2b

iff_bpmdeY

91

600 —

I ¥ | ndf 33.08/33
oor po 1.001+ 0.957
200 - pl  —0.07779 + 0.25334

S i

O + +flﬁ++*mﬂwﬁ#ﬁﬁﬂm

I H ff
=200 -

_4A00
_Eﬂn_l|||||||||||||||||||||||||||||||||||||||||||||||

20 <15 <10 -5 O 5 10 15 20 2b

diff_bpmdeY

%2 [ ndf 3111733

po 0.3482 + 1.2246

p1 05227 £0.3194 |
hrpiviiprt
: ““ T ”‘HJH M

=200

+

~400

- 600

-800

m1357 vs diff bpm-fit postpan.png

diff _bpmE

¥/ ndf 21.83/732 *
pO —-3.784 + 1.669
p1 0.04219+ 0.22192 }
C T | |h m |
o H
~200 | } )
~a00
-600 -
-800 |- _|
: | | | | | 1 1 1 | | | | I | | 1 | | | |
-40 =20 0 20 40
diff_bpmE
1000 — f—
) %2 1 ndf 30.32 /32
- p0 0.6463 = 1.4271
500
B p1 -0.1135£0.1850
n i- .I.
— ittt
i o |
-500 —
=000 —
- | | 1 | | 1 | | | | | | I | | 1 | | | |
-40 -20 0 20 40
diff_bpmE
500
B ¥ | ndf 2557 132
400
pO 1.431+ 0.954
00
p1 —0.01553 + 0.12683
200 }
100 } |

(=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
—
=sn

=100
— 200
=300
[ v by v by v by by oy

=40 =20 0 20 40
diff _bpmE

- EI
500 ¥< / ndf 29.2 /32

i pO 0.6913 +1.2213
400 —

B p1 —0.01409 + 016075
200 |- *

- H A

1
=200 — | }
=400 —

i N N T T NN NN T N TN NN A TN N MO A O A

—4{) =20 i) 20 40



asym_sam1

asym_samJ3

asym_samd

asym_sam’7/

run3679 000 re

8000

G000

4000

2000

1]

=2000

=4000

~6000

~8000

10 -8 -6 -4 -2

20000

10000

10000

20000

0 2 4 6 & 10
diff_bpm4aX/um

A0 -8 -6 -4 -2

G000

4000

2000

=2000

=4000

~6000

(1] 2 4 6 8 10
diff_bpmdax/um

10 -8B -6 -4 -2

diff _

20000

15000

10000

5000

1]

=5000

10000

15000

20000

25000

0 2 4 6 & 10
diff_bpmdaX/um

0 -8 & -4 -2

oressio

2

n-asym

4000

2000

=2000

=4000

~6000

~8000

20000

10000

10000

20000

6000

4000

2000

=2000

~4000

~6000

20000

15000

10000

5000

1]

5000

10000

15000

20000

25000

30 -20 -10 O 10 20 30 40
diff_bpmda¥ium

30 =20 =10 1] 10 20 30 40
diff_bpmda¥/um

30 -20 -10 O 10 20 30 40
diff_bpmda¥ium

sam1357-'vs

8000

6000

4000

2000

=2000

=4000

=6000

~8000

2

20000

10000

10000

20000

6000

4000

2000

= 2000

=4000

=~ 6000

20000

15000

10000

5000

0

=5000

10000

15000

20000

25000

diff_bpmdeX

20 40
diff_bpmdeX/um

20 40
diff_bpmdaX/um

!

|_|_II|I

20 40
diff _bpmdeX/um

2 (1]

m=scat pos

:
%

8000

G000

4000

2000

= 2000

=4000

=600

=B000

20000

10000

10000

20000

G000

4000

2000

= 2000

=4000

= G000

20000

15000

10000

5000

1]

= 5000

10000

15000

20000

25000

20 -15 -10 -5 © 5 10 15 20 25
diff_bom4eY/um

20 <15 10 -5 O 5 10 15 20 25
diff_bpmdaY/um

20 -15 -10 -5 © 5 10 15 20 25
diff_bomdeY/um

20 =15 =10 1 20 25

tpan.png

4000

2000

= 2000

=4000

= 6000

~8000

5

20000

10000

10000

-40 =30 -20 10 0O 10

6000

4000

2000

= 2000

=4000

~6000

-40 =30 -20 10 0O 10

=5000

10000

15000

20000

25000

-40 =30 =20 -10 O 10

=30 =20 =10 0 10 20 30 40 50
diff_bpmEfum

20 30 40 50
difi _bpmEfum

20 30 40 50
diff_bpmEfum

20 30 40 50
diff _bpmEfum




reg_asym_saml

reg_asym_samJ

reg_asym_samd

reg_asym_sam?/

run3679 000 r

diff _

2000
1500
1000

500

=500
=1000
=1500

=2000

c,_llllIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

-2500

—

8 6 -4 -2

]l "llf][i
8000
6000
4000
2000

1]
=2000
=4000

~6000

8000

10000 III|II I|III| III|II I|III |III|I II|III |III

0 2 4 6 & 10
diff_bpm4aX/um

10 -8 -6 -4 -2

1500

1000

500

-500

=1000

=1500

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

2000 prr b tvrr b bvrn bers v beaa braa e

(1] 2 4 6 8 10
diff_bpmdax/um

10 -8B -6 -4 -2

diff _

—
4000
3000
2000
1000
1]
=1000
=2000

=3000

=4000

0 2 4 6 & 10
diff_bpmdaX/um

_Illl III|I II|II I|II
B T S S S R

2

egression-reg

diff_

C f— C f—
2000 2000
1500 F- 1500 -
1000 - 1000 -
500 - 500
s - _s00 -
~1000 - ~1000 F-
~1500 |- ~1500 F
~2000 - ~2000 -
~2500 iﬂ Lo b e b o b laaa -2500 5'| o Loy b by by
30 -20 =10 ©0 10 20 30 40 -60 -40 -20 0 20 40
diff_bpm4aYium diff_bpm4eX/um
' diff_
ff bpmdaY i1
8000 [ | 8000 [
6000 E— 000 E—
4000 f— 4000 f—
2000 E— 2000 E—
-2000 -2000
-4000 f— -4000 f—
~B000 f— ~B000 f—
~8000 f— ~8000 f—
N SRS EEET PR TR ETET FURT R S I R BN AN I I
30 -20 =10 ©0 10 20 30 40 ~60 ~40 -20 0 20 40
diff_bpm4aYium diff_bpm4eX/um
iff bpmd4aY  diff_
1500 E— 1500 E—
1000 E— 1000 E—
500 f— 500 f—
of of
-500 f— -500 f—
- 1000 E— ~1000 E—
~1500 E— ~1500 E—
2000 %I Lo b bewrn b b b laaas 2000 - v v v v Py ey g
30 -20 =10 0 10 20 30 40 “60 ~40 -20 0 20 40
diff_bpm4aYium diff_bpm4eX/um
* .
ff bpmd4aY diff_
4000 |- | 4000 |-
3000 |- 3000 |-
2000 z— 2000 z—
1000 - 1000 -
~1000 |- ~1000 -
~2000 |- ~2000 -
~3000 |- ~3000 |-
_ap00 |- _ap00 |-
ill IIII| 11 E

=5000

S T357%s diff bom-scat

postpan.p

diff_

2000

1500

1000

500

=500

=1000

=1500

= 2000

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

- 2500 ;1IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III”

200 <15 10 =5 O 5 10 15 20 25

diff_bom4eY/um
dift

8000

6000

4000

2000

1]

= 2000

=4000

=G000

=B000

10000 nlIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III”

20 <15 10 -5 O 5 10 15 20 25
diff_bpmdaY/um

1500

1000

500

-500

= 1000

=1500

=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

3000 Celbvvs bevnr vl b e bvrna v benaald

20 -15 -10 -5 © 5 10 15 20 25
diff_bomdeY/um

ditf_ Y

4000
3000
2000
1000

1]

= 1000

= 2000

=3000

=4000

Bl b b b v e beva By bea|
=000 =20 5 <10 -5 0 15 20 256

=500

=1000

=1500

= 2000

é_'IIIIIIIIIIIIIIII.-III

= 2800
- =30 =20 =10 0 10 20 30 40 50
diff_bpmEfum

diff_

8000

6000

4000

2000

(1]

= 2000

=4000

~6000

~8000

10000 IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III”II

—40 =30 -20 -10 O 10 20 30 40 50
difi _bpmEfum

1500

1000

500

-500

=1000

=1500

=
IIIIIIIIIIIIIIIIIIIIIIII|IIII|IIII|IIII

2000 prvrbvrre berrr b bvvrn bvrna e beraa bvrna b

-40 =30 -20 10 0O 10 20 30 40 50

diff_bpmEfum
diff

4000

3000

2000

1000

(1]

=1000

= 2000

=3000

=4000

_IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II
_5ﬂn94ﬂ 30 =20 <10 0O 10 20 30 40 50
diff _bpmEfum



